
MATHS

BOOKS - PEARSON IIT JEE FOUNDATION

NUMBER SYSTEM

Example

1. Find the HCF and the LCM of 300, 360, 600.

Watch Video Solution

2. Compare  and 

Watch Video Solution

2

5

3

7

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_P2mXgv8SNBr5
https://dl.doubtnut.com/l/_KC6WKyk0FrkZ


3. Compare  and 

Watch Video Solution

5

6
7
9

4. In a class, there are 60 students. One third of them are girls.

How many girls are there in the class?

Watch Video Solution

5. Suppose your father has brought a big of chocolates. He

divided it into two equal pieces and gave one piece to you. You

wanted to share it with two your friends. You divided your

piece of chocolate into three equal piece. How much did each

of you get?

https://dl.doubtnut.com/l/_KC6WKyk0FrkZ
https://dl.doubtnut.com/l/_cxjhwPjdqRpS
https://dl.doubtnut.com/l/_SQJlrHTKwRLs
https://dl.doubtnut.com/l/_kvEjoWIfzXe5


Watch Video Solution

6. a. Divide 8.4 by 4. 

b. Divide 36.48 by 7.

Watch Video Solution

7. a. Divide 23.4 by 10 

b. Divide 23.4 by 100.

Watch Video Solution

8. A fruit vendor purchased 125 oranges for Rs. 165. Find the

cost of one orange.

Watch Video Solution

https://dl.doubtnut.com/l/_kvEjoWIfzXe5
https://dl.doubtnut.com/l/_CbrJNJ3jAgvl
https://dl.doubtnut.com/l/_zAOT9nLHiv4S
https://dl.doubtnut.com/l/_vKxKordBtUQD


9. Express  in the form of  where p and q are

coprimes.

Watch Video Solution

2.3̄ ¯̄̄45 p/q

10. Find the cube root of 216.

Watch Video Solution

11. What is the least positive integer by which 50 should be

multiplied so that the product is a perfect square?

Watch Video Solution

https://dl.doubtnut.com/l/_vKxKordBtUQD
https://dl.doubtnut.com/l/_Vaj0E5w8lV7e
https://dl.doubtnut.com/l/_9DvDNodhTND4
https://dl.doubtnut.com/l/_YU88cMNwjwev
https://dl.doubtnut.com/l/_ELqKysOJ06Tz


Test Your Concepts Very Short Answer Type Question

12. Find the value of .

Watch Video Solution

√20 − √1
1

4

32

49

1. The multiplicative inverse of zero does not exist.

Watch Video Solution

2. Division by zero is not defined.

Watch Video Solution

3. Multiplication is not commutative for integers.

https://dl.doubtnut.com/l/_ELqKysOJ06Tz
https://dl.doubtnut.com/l/_ucEmMeqqprEy
https://dl.doubtnut.com/l/_1vFRG876clo5
https://dl.doubtnut.com/l/_fVLNdWedDYXS


Watch Video Solution

4. The product of two improper fractions is less than both the

fractions

Watch Video Solution

5. (a) The product of two proper fractions is less than each of

the
fractions that are multiplied.
 (b) The product of a proper

and an improper fraction is less than the
 improper fraction

and greater than the proper fraction.
 (c) The product of two

impo

Watch Video Solution

https://dl.doubtnut.com/l/_fVLNdWedDYXS
https://dl.doubtnut.com/l/_KahhO6rfjTmb
https://dl.doubtnut.com/l/_xd87ksNjrdmd


6. 

Watch Video Solution

2.3458 × 1000 = 234.58

7. ?

Watch Video Solution

= 0.0029
29

1000

8. Every irrational number can be expressed on the number

line. This statement is

Watch Video Solution

9. The square root of a negative number is irrational.

Watch Video Solution

https://dl.doubtnut.com/l/_2ZZx2bepjTKI
https://dl.doubtnut.com/l/_jmRAoW0ydRA2
https://dl.doubtnut.com/l/_wTRf5FCtT3pD
https://dl.doubtnut.com/l/_GM8CGuAxQpWY


Watch Video Solution

10. What is the additive identity element in the
 set of whole

numbers?
0
(b) 
(c) 1 (d)
None of these

Watch Video Solution

−1

11. A fraction in which the numebrator is greater than the

denominator is called____________.

Watch Video Solution

12. Mixed fraction a combination of a whole number and a

proper fraction is called a mixed fraction.

Watch Video Solution

https://dl.doubtnut.com/l/_GM8CGuAxQpWY
https://dl.doubtnut.com/l/_YwT9elHIXVI2
https://dl.doubtnut.com/l/_jvJuxOhATW31
https://dl.doubtnut.com/l/_O7T2oSaKAzqQ


13. The product of two proper fractions is always

_______fraction.

Watch Video Solution

14. 

Watch Video Solution

0.2 × 0.3 =_ __ __ _

15. The decimal form of a proper fraction whose denominator

is a multiple of 3 is a ________decimal.

Watch Video Solution

16. _____________.999999……… =

https://dl.doubtnut.com/l/_K2JORZE7j1k9
https://dl.doubtnut.com/l/_3IReO94WOI7V
https://dl.doubtnut.com/l/_CLNISXEExlCX
https://dl.doubtnut.com/l/_a4rQTsZbqcS8


Watch Video Solution

17. Non repeating and non terminating decimals are

called_______________.

Watch Video Solution

18. Given,  find the value of 

correct to 3 places of decimal.

Watch Video Solution

√2 = 1.414 and √6 = 2.449,

1

√3 − √2 − 1

19. If 
find the value of 
upto three place

of decimals.

Watch Video Solution

√2 = 1. 414, √3 + √6

https://dl.doubtnut.com/l/_a4rQTsZbqcS8
https://dl.doubtnut.com/l/_cOyg0sOEDc82
https://dl.doubtnut.com/l/_eo81CLiT40J3
https://dl.doubtnut.com/l/_xHzJjcSrIG7M


20. What is the multiplicative identity element in the set of

whole numbers?

A. 0

B. 

C. 1

D. 2

Answer: C

Watch Video Solution

−1

21. Natural numbers are closed under subtraction.

https://dl.doubtnut.com/l/_xHzJjcSrIG7M
https://dl.doubtnut.com/l/_WUbisWmQOFOX
https://dl.doubtnut.com/l/_rsYUABjGuT5d


A. N

B. Z

C. Q

D. R

Answer: A

Watch Video Solution

22. What do you call two fractions, whose product is 1?

A. Additive inverse to each other

B. Multiplicative inverse to each other

C. Reciprocals to each other

D. Both b and c

https://dl.doubtnut.com/l/_rsYUABjGuT5d
https://dl.doubtnut.com/l/_aXlyEXPiBJCn


Answer: D

Watch Video Solution

23. Period of the decimal 2.3636363………is ________

A. 2

B. 3

C. 36

D. 63

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_aXlyEXPiBJCn
https://dl.doubtnut.com/l/_u8GUrJU8l06u


24. Periodicity of  is ___

A. 8

B. 836

C. 3

D. 6

Answer: C

Watch Video Solution

981.7̄ ¯̄̄ ¯̄836

25. What is the smallest positive irrational number?

A. 

B. 

√2

√3

https://dl.doubtnut.com/l/_5oNznII6OVSf
https://dl.doubtnut.com/l/_axS5F0wmcWyH


C. 

D. Not defined

Answer: D

Watch Video Solution

√
1

2

26. The additive identity element in the set of
 integers is
 1
 (b)


(c) 0 (d)
none of these

A. 0

B. 1

C. 

D. 2

Answer: B

−1

−1

https://dl.doubtnut.com/l/_axS5F0wmcWyH
https://dl.doubtnut.com/l/_wQFzq2Ci5ekI


Watch Video Solution

27. Find the HCF of 17 and 19.

A. 1

B. 2

C. 17

D. 19

Answer: A

Watch Video Solution

28. _____√225 + 3√ =
1

64

https://dl.doubtnut.com/l/_wQFzq2Ci5ekI
https://dl.doubtnut.com/l/_eioKmG9SNeRn
https://dl.doubtnut.com/l/_rCIVHnT9CjlK


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

15
1

4

15
1

8

15
1

2

15
1

16

29. The LCM of two numbers is 30 and the product of two

numbers is 150. Find the HCF

A. 3

B. 5

C. 10

https://dl.doubtnut.com/l/_rCIVHnT9CjlK
https://dl.doubtnut.com/l/_qgardw6RoecY


D. 15

Answer: B

Watch Video Solution

30. If  an , then find the value of 

.

A. 

B. 

C. 

D. 

Answer: 

Watch Video Solution

m = ( − 1)2000
n = ( − 1)2002

m

n

−1

1

2000

2002

B

https://dl.doubtnut.com/l/_qgardw6RoecY
https://dl.doubtnut.com/l/_BDUcLH7idDvI


Test Your Concepts Short Answer Type Question

1. Arrange the following decimal numbers in the ascending

order. 

 and 

Watch Video Solution

0.52314, 0.52313, 0.53201 0.52321

2. Find the product of 

Watch Video Solution

3 × 1 × 1 × 1
1

7

5

6

2

5

1

11

3. Convert the following terminating decimals as fractions 

2.3675

https://dl.doubtnut.com/l/_BDUcLH7idDvI
https://dl.doubtnut.com/l/_Dte6z4m6mctr
https://dl.doubtnut.com/l/_cbpGgHugfAAT
https://dl.doubtnut.com/l/_NrNcC3shJ5vM


Watch Video Solution

4. Convert the following terminating decimals as fractions 

54.26

Watch Video Solution

5. Convert the following terminating decimals as fractions 

75.35

Watch Video Solution

6. Convert the following terminating decimals as fractions 

0.7575

Watch Video Solution

https://dl.doubtnut.com/l/_NrNcC3shJ5vM
https://dl.doubtnut.com/l/_5ryvNNZzan6G
https://dl.doubtnut.com/l/_dkBG7XgrO9T1
https://dl.doubtnut.com/l/_f5slGJaDyuFL


7. Simplify: 

Watch Video Solution

22.308 ÷ 7.436

8. Simplify:

Watch Video Solution

÷
837
125

558

4750

9. Add the following rational numbers. 

Watch Video Solution

, , ,
3

10

0.4

100

−21

1000

7

10000

https://dl.doubtnut.com/l/_f5slGJaDyuFL
https://dl.doubtnut.com/l/_RBBrxfD59cpa
https://dl.doubtnut.com/l/_idZZRjOyySyQ
https://dl.doubtnut.com/l/_jj5rgu0g60Aq


10. Which of the following fractions are recurring decimals? 

Watch Video Solution

237
625

11. Find the value of 

Watch Video Solution

30.32 × 4.5

12. Convert the following improper fractions into mixed

fractions. 

Watch Video Solution

23/12

https://dl.doubtnut.com/l/_zQH3xAtcH9Fx
https://dl.doubtnut.com/l/_6ABFyuNfgpwB
https://dl.doubtnut.com/l/_AuqLEixcxJa7


13. Convert the following improper fractions into mixed

fractions. 

Watch Video Solution

37/8

14. Convert the following improper fractions into mixed

fractions. 

Watch Video Solution

108/52

15. Find the HCF and the LCM for the following sets of numbers

24,36

Watch Video Solution

https://dl.doubtnut.com/l/_6QdfYTQCIvz1
https://dl.doubtnut.com/l/_bxituTNssVuX
https://dl.doubtnut.com/l/_RqZvRQFPFCir


16. Find the HCF and the LCM for the following sets of numbers

16,20,48

Watch Video Solution

17. Find the HCF and the LCM for the following sets of numbers

25,35,40

Watch Video Solution

18. The LCM and the HCF of two numbers are 625 and 5,

respectively. Find the product of the two numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_RqZvRQFPFCir
https://dl.doubtnut.com/l/_MJUriRfeXh0a
https://dl.doubtnut.com/l/_usA0BV9DnUML
https://dl.doubtnut.com/l/_TfQ1NIq5UOZv


19. Convert the following decimals into  form.  


2.345

Watch Video Solution

p

q
(p, q ∈ Z)

20. Convert the following decimals into  form.  


35.2

Watch Video Solution

p/q (p, q ∈ Z)

21. Convert the following decimals into  form.  


Watch Video Solution

p/q (p, q ∈ Z)

281. ¯̄̄¯31

https://dl.doubtnut.com/l/_p9oSri78Diri
https://dl.doubtnut.com/l/_bnLW8AmnX4lW
https://dl.doubtnut.com/l/_kpmfkQU0GNcA


22. Convert the following decimals into  form.


Watch Video Solution

p/q

108. ¯̄̄ ¯̄¯001

23. Find any three rational numbers between 5/8 and 7/12.

Watch Video Solution

24. Arrange the following fractions in the descending order.

 and 

Watch Video Solution

, ,
10

12

13

15

21

25
43

45

25. Find the difference between 3.47777. and 2.8588…..

https://dl.doubtnut.com/l/_TYZbOfLDyjdF
https://dl.doubtnut.com/l/_x1Rtn4p1jRLE
https://dl.doubtnut.com/l/_fXj7XoLZN6To
https://dl.doubtnut.com/l/_ELMcPtJH9M7m


Watch Video Solution

26. Show that 

Watch Video Solution

2. 9̄ = 3

27. Find the value of 

Watch Video Solution

3. 4̄ × 5. 6̄

28. The LCM ad the HCF of two numbers are 48 and 8,

repectively. If one of the numbers is 24, then find the other

number.

Watch Video Solution

https://dl.doubtnut.com/l/_ELMcPtJH9M7m
https://dl.doubtnut.com/l/_aVtJuwB2L1TP
https://dl.doubtnut.com/l/_Xbne6s3hEVUw
https://dl.doubtnut.com/l/_nWhsKvuxMd0B


29. Find the least positive integer that should be multiplied to

720 so that the product obtained is a perfect square.

Watch Video Solution

30. Krishna covers a certain distance in 150 min. He covers half

of the distance in 4/15 of the time. Find the time taken to cover

the remining distance.

Watch Video Solution

31. A family requires 2.2 L of milk every day. Find the total

quantity of milk required in a mouth of 31 days.

Watch Video Solution

https://dl.doubtnut.com/l/_j45Amulh6vtC
https://dl.doubtnut.com/l/_uSQdhYbDp7OR
https://dl.doubtnut.com/l/_dujKLXR6U9rb


32. As is the small four digit number formed by using all the

digits 0,1,2, and 3. B is the greatest four digit number formed

by using all the digits 0, 1,2 and 3. Find B-A.

Watch Video Solution

33. Find the greatest number that can divide 76 and 60 leaving

remainders of 4 and 6, respectively.

Watch Video Solution

34. Simplify: 35.4747……….-27.1414…………..

Watch Video Solution

https://dl.doubtnut.com/l/_EQ8SKz5zSW97
https://dl.doubtnut.com/l/_oDSKCMGzQ59v
https://dl.doubtnut.com/l/_ETO0dhB0NJJm


Test Your Concepts Essay Type Question

35. Simplify: 

Watch Video Solution

√2 − √1
14

25
7
9

36. Simplify: 

Watch Video Solution

√2.42 × √2.88

1. Find the least three digit number which when
divided by 20,

30, 40 and 50 leaves remainder 10 in each case.

Watch Video Solution

https://dl.doubtnut.com/l/_8XBW5kcKny3o
https://dl.doubtnut.com/l/_uHhjjCqX1mei
https://dl.doubtnut.com/l/_aAl5Pjz5Ihi3
https://dl.doubtnut.com/l/_CarbaOcd3gei


2. Evaluate  correct up to two places of decimal.

Watch Video Solution

√3

3. In a class there are  boys and  girls. If the class is to be

divided into least number of groups such that each group

contains either only boys or only girls, then how many groups

will be formed ?

A. 

B. 

C. 

D. none of the above

Answer: A

Watch Video Solution

72 64

17

34

24

https://dl.doubtnut.com/l/_CarbaOcd3gei
https://dl.doubtnut.com/l/_VIACfjSmIgSd


4. Find the largest number that divides 59 and 54
 leaving

remainders 3 and 5 respectively.

Watch Video Solution

5. Three bells toll at intervals of 12 min, 24 min and 9 min

respectively. If they toll togather at  a.m. then find the

time at whcih they toll togather again for the first time. 

The Following are the steps involved in solving the above

problem. Arrange them in the sequential order. 

(A) We know that the three bells toll togather at the multiples

of LCM of 12 min, 24 min and 9 min. 

(B) After 11 a.m. they toll togather at (11 a.m.+ 72 min ) i.e., 12.12

p.m.

11.00

https://dl.doubtnut.com/l/_VIACfjSmIgSd
https://dl.doubtnut.com/l/_2H2CUYszXNpB
https://dl.doubtnut.com/l/_wicgZO3FNp41


(C) THe LCM of 12, 24 and 9 is 72. 

(D) Therefore, all the three bells toll togather for every 72 min.

Watch Video Solution

6. A man purchased a plot which is in the shape of a square

.The area of the plot is 12 hectares 3201  .Find the length of

each side of the plot (in m)`

Watch Video Solution

m2

7. Find the divisor given that the dividend is 2200 remainder is

13 the divisor is one third of the quotient

A. 

B. 

29

17

https://dl.doubtnut.com/l/_wicgZO3FNp41
https://dl.doubtnut.com/l/_7sQ2lcq6OlnU
https://dl.doubtnut.com/l/_y2BCWoAdclH2


C. 

D. 

Answer: C

Watch Video Solution

27

28

8. A certain number of men went to a hotel .Each man spent as

mamy rupee as one fourth of the men.If the total bill paid was

Rs 20449 then how many men visited the hotel?

Watch Video Solution

9. Find the value of 

Watch Video Solution

3√288 × 3√432 × 3√648

https://dl.doubtnut.com/l/_y2BCWoAdclH2
https://dl.doubtnut.com/l/_f8S2Zj5256FY
https://dl.doubtnut.com/l/_W9k0PZxDYv7c


Concept Application Level 1

10. Volume of a cube is given by the formula , where s is

the length of the side. Find the side of the cube if its volume is

10.648 cubic units.

Watch Video Solution

V = s3

1. What is the additive identity element in the
 set of whole

numbers?
0
(b) 
(c) 1 (d)
None of these

A. 0

B. 1

C. 

D. 2

−1

−1

https://dl.doubtnut.com/l/_DBciQxUacolB
https://dl.doubtnut.com/l/_xZFj31SvLYkt


Answer: A

Watch Video Solution

2. Which of the following is /are true?

A.  is an irrational number.

B.  is a rational number.

C. Both a and b

D. Neither a nor b

Answer: B

Watch Video Solution

√6 × √6

√5 × √25

https://dl.doubtnut.com/l/_xZFj31SvLYkt
https://dl.doubtnut.com/l/_FM0IvlD0VWAT


3. M an N are two coprimes. Which of the following is/are true?

A. LCM (M,N)=

B. HCF(MltN)=1

C. Both a and b

D. Neither a nor b

Answer: C

Watch Video Solution

M × N

4. If  and , then find the value of

ab.

A. 1

a = ( − 1)2009
b = ( − 1)2010

https://dl.doubtnut.com/l/_EpFqRvrP9A9I
https://dl.doubtnut.com/l/_aiTWiZEEcdxw


B. 

C. 2009

D. 2010

Answer: B

Watch Video Solution

−1

5.  is a perfect square. Which of the following is/are true?

A. X is a perfect square.

B.  is a perfect square

C. Neighte a nor b

D. Both a and b

Answer: D

√X

X2

https://dl.doubtnut.com/l/_aiTWiZEEcdxw
https://dl.doubtnut.com/l/_msS0Xx99d7Cj


Watch Video Solution

6. __________

A. 44322

B. 44202

C. 0

D. 1

Answer: C

Watch Video Solution

3√ − √ =
125

216

25

36

7. The HCF of two numbers is 6 and the product of two

numbersis 360. Find theLCM of the numbers

https://dl.doubtnut.com/l/_msS0Xx99d7Cj
https://dl.doubtnut.com/l/_ydFsBfzjCtPV
https://dl.doubtnut.com/l/_J11WJ8vEiOgS


A. 60

B. 30

C. 12

D. 6

Answer: A

Watch Video Solution

8. If M and N are two natural numbers, then  is

___________

A. a natural number

B. a rational number which is not necessarily an integer

C. a real number which is not necessarily an integer

LCM(M, N)

HCF (M, N)

https://dl.doubtnut.com/l/_J11WJ8vEiOgS
https://dl.doubtnut.com/l/_FE0cA0Z0zHg9


D. an irrational number.

Answer: A

Watch Video Solution

9. X is the smallest four -digit number formed by all the digit

0,1,2 and 3. Find X.

A. 123

B. 1023

C. 1000

D. 102

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_FE0cA0Z0zHg9
https://dl.doubtnut.com/l/_PTdVJX1586Ns


10. Find the least natural number which when divided by 6,9, 12

and 18 leaves no remainders.

A. 36

B. 72

C. 12

D. 18

Answer: A

Watch Video Solution

11. If  then find r

A. 12

r3 = 1728

https://dl.doubtnut.com/l/_PTdVJX1586Ns
https://dl.doubtnut.com/l/_13x1dsripd2I
https://dl.doubtnut.com/l/_AZQtUmHEO71C


B. 14

C. 16

D. 18

Answer: A

Watch Video Solution

12. If two numbers are equal, then
 their LCM is equal to their

HCF
their LCM is less than their HCF
their LCM is equal to two

times their HCF
None of these

A. Their LCM is equal to their HCF

B. Their LCM is less than their HCF

C. Their LCM is equal to two times their HCF.

https://dl.doubtnut.com/l/_AZQtUmHEO71C
https://dl.doubtnut.com/l/_tVsld5wx5cWH


D. Thei LCM is not equal to their HCF.

Answer: A

Watch Video Solution

13. X is the perfect square. Which of the following is necessarily

true?

A.  is a perfect square.

B.  is a perfect square

C. Both a and b

D. Neither a nor b

Answer: A

Watch Video Solution

X2

√X

https://dl.doubtnut.com/l/_tVsld5wx5cWH
https://dl.doubtnut.com/l/_VkIIzLPCSoEc


14. The following are the steps inolved in converting  into

p/q form where . Arrange them in sequential order from

the first to the last.

A.  ……….2 


B.As periodicity is 2, multiply the Eq. 2 with 100. 

C.  


D. Let ........1 


E. Subtract Eq. 1 from Eq 2

A. DBEAC

B. DBAEC

C. DBCAE

D. DABEC

Answer: B

0. ¯̄̄¯23

q ≠ 0

∴ 100x = 23.232323

∴ 99x = 23 ⇒ x =
23

99

x = 0. ¯̄̄¯23 = 0.232323

https://dl.doubtnut.com/l/_VkIIzLPCSoEc
https://dl.doubtnut.com/l/_YkXbiqvfTElg


Watch Video Solution

15. The following are the steps involved in finding the positive

value of x from the equationn 


Arrange them in sequential order from the first to the last. 

A.  


B.  


C.  


A. CDAB

B. CABD

C. CADB

D. CDBA

x2 = 12.96

x2 =
(36)

2

102

∴ x = 3.6

x2 = 12.96 =
1296

100

D. x =
36

10

https://dl.doubtnut.com/l/_YkXbiqvfTElg
https://dl.doubtnut.com/l/_jSbs0qzA61Qs


Answer: C

Watch Video Solution

16. Find the positive value of x from the equation 

Watch Video Solution

x2 =
8.1

36.1

17. The following are the steps involved in converting  into

p/q form where . Arrange them in sequential order from

the first to last. 

A. …….2 


B. Let ……..1 


c.  


1. ¯̄̄¯52

q ≠ 0

∴ 10x = 15.2222

x = 1. ¯̄̄¯52 = 1.52222

9x = 13.7 ⇒ x = =
13.7

9
137
90

https://dl.doubtnut.com/l/_jSbs0qzA61Qs
https://dl.doubtnut.com/l/_B1PNYinEZITd
https://dl.doubtnut.com/l/_MGLn7khzatXJ


D. As periodicity is 1 multiply the Eq (1) with 10. 

E. Subtract Eq. 1 from the Eq. 2

A. BDAEC

B. DBAEC

C. DBCEA

D. BDCEA

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_MGLn7khzatXJ


18. Match Column A with Column B. 

Watch Video Solution

19. Match Column A with Column B. 

Watch Video Solution

https://dl.doubtnut.com/l/_wg9wtRCxaiQW
https://dl.doubtnut.com/l/_h6WbJe2SCLN7


Concept Application Level 2

1. If the sum of two integers is -26 and one of them is 14, then

find the other integer.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−12

12

−40

40

2. Which of the following pairs of integers have 5
 as a

difference?
10, 5 (b) 
 
(d) both (a) and (b)−10,   − 5 15,   − 20

https://dl.doubtnut.com/l/_8r7PnX8HIavw
https://dl.doubtnut.com/l/_CYajf8IfiGir


A. 10,5

B. 

C. 

D. both a and b

Answer: D

Watch Video Solution

−10, − 5

15, − 20

3. If the product of two integers is 72 and one of
them is 
 ,

then the other integer is
 
(b) 8 (c)
81 (d) 63

A. 8

B. 

C. 

−9

−8

−8

81

https://dl.doubtnut.com/l/_CYajf8IfiGir
https://dl.doubtnut.com/l/_xGnTj2z2TbzI


D. 63

Answer: B

Watch Video Solution

4. Simplify: 

A. 148

B. 147

C. 146

D. 145

Answer: D

Watch Video Solution

29 × 76 − 71 × 29

https://dl.doubtnut.com/l/_xGnTj2z2TbzI
https://dl.doubtnut.com/l/_nGwiiVmMFnRb
https://dl.doubtnut.com/l/_3faevdq1KFCY


5. If A travels three fifth of a certain distance on a day and the

rest the next day then what part of the distance he travels on

the second day?

A. 44260

B. 44232

C. 44201

D. 44291

Answer: B

Watch Video Solution

6. If the lengths of two poles  and  are 26.79 m and

29.34m, respectively, then how much longer is  than ?

P1 P2

P2 P1

https://dl.doubtnut.com/l/_3faevdq1KFCY
https://dl.doubtnut.com/l/_Nym5VQeTsUoh


A. 2.45m

B. 2.35m

C. 2.55m

D. 2.65m

Answer: C

Watch Video Solution

7. Which of the following
 fractions lies between 


(b) 
 
(d) None
of these

A. 44259

B. 44291

C. 44322

and ?
2

3

5

7

3

4
4
5

5

6

https://dl.doubtnut.com/l/_Nym5VQeTsUoh
https://dl.doubtnut.com/l/_1lx5wK0Wmfij


D. 44293

Answer: D

Watch Video Solution

8. Find the greatest number that exactly divides 81, 144, and

162.

A. 9

B. 27

C. 3

D. 81

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_1lx5wK0Wmfij
https://dl.doubtnut.com/l/_NlHQY8fTdLeC


9. Find the least number which when divided by 24, 36 and 48

leaves zero as its remainder.

A. 124

B. 144

C. 164

D. 224

Answer: B

Watch Video Solution

10. If  and , then  is

A. 

p = ( − 1)205
q = ( − 1)202

p + q

( − 1)407

https://dl.doubtnut.com/l/_NlHQY8fTdLeC
https://dl.doubtnut.com/l/_KbCGV9ZtjCtV
https://dl.doubtnut.com/l/_fvwxPIjublJn


B. 

C. 

D. 

Answer: C

Watch Video Solution

( − 1)4

0

−2

11. ………..

A. 4

B. 3

C. 2

D. 1

3√ + √ =
27
125

4

25

https://dl.doubtnut.com/l/_fvwxPIjublJn
https://dl.doubtnut.com/l/_6rNVbB6toc7o


Answer: D

Watch Video Solution

12. Which of the following is true?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(a + b)2 = a2 + b2 + ab

√a. √b = √ab

√a − √b = √a − b

(a − b)(a + b) = a2 + b2

https://dl.doubtnut.com/l/_6rNVbB6toc7o
https://dl.doubtnut.com/l/_VoLWwWUG3ASe


13. The period of the decimal number  is

___________________.

A. 23

B. 46

C. 10

D. 1023

Answer: B

Watch Video Solution

10.23̄ ¯̄̄46

14. Recurring: pure recurring and mixed recurring decimals and

its conversion

A. 44199

https://dl.doubtnut.com/l/_UTDMZsdo28YU
https://dl.doubtnut.com/l/_5QrP4oQJKPZU


B. 44234

C. 44200

D. Both a and b

Answer: D

Watch Video Solution

15. If  and , then which of the

following is/are rational numbers?

A. xy

B. xz

C. yz

D. All of these

x = √3, y = √27 z = √243

https://dl.doubtnut.com/l/_5QrP4oQJKPZU
https://dl.doubtnut.com/l/_ZbzPF3lKVibU


Answer: D

Watch Video Solution

16. _____

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

0. 3̄ + 0. ¯̄̄¯45 =

0. ¯̄̄¯75

0. ¯̄̄¯48

0. ¯̄̄¯76

0. ¯̄̄¯78

https://dl.doubtnut.com/l/_ZbzPF3lKVibU
https://dl.doubtnut.com/l/_OYNzlt5vydBN


17. If , then which one of the following is

correct ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∣
∣
∣
∣
∣

p −q 0

0 p q

q 0 p

∣
∣

∣

∣
∣

= 0

0. ¯̄̄ ¯̄¯011

0.001̄

0.0̄ ¯̄̄01

0. ¯̄̄ ¯̄¯001

18. ______

A. 44208

√1 − √1 =
9

16
7
9

https://dl.doubtnut.com/l/_Zu5A04hof6MN
https://dl.doubtnut.com/l/_UYguPPkd6fEA


B. 44230

C. 

D. 

Answer: C

Watch Video Solution

−
1

12

−2/3

19. ___

A. 1.82

B. 1.72

C. 3.64

D. 3.44

Answer: C

√3.38 × √3.92 =

https://dl.doubtnut.com/l/_UYguPPkd6fEA
https://dl.doubtnut.com/l/_Lowtc2gzj9iu


Watch Video Solution

20. Find the difference between the greatest and the smallest

four-digit numbers formed by using all the digits 8, 6, 7 and 4.

A. 9081

B. 27.81

C. 27.77

D. 18.9

Answer: B

Watch Video Solution

21. _______√6.05 × √8.45 =

https://dl.doubtnut.com/l/_Lowtc2gzj9iu
https://dl.doubtnut.com/l/_l6rQvwg4X5z6
https://dl.doubtnut.com/l/_l5CPnIgV3sdU


A. 6.95

B. 7.35

C. 7.55

D. 7.15

Answer: D

Watch Video Solution

22. Find the greatest number that can divide 101
 and 115

leaving remainders 5 and 7 respectively.

A. 

B. 

C. 

6

9

12

https://dl.doubtnut.com/l/_l5CPnIgV3sdU
https://dl.doubtnut.com/l/_J8UkGzWEV8tG


D. 

Answer: C

Watch Video Solution

18

23. In a school, the number of students in each section is equal

to the number of sections. If the total number of students is

625, then find the numbr of sections

A. 10

B. 20

C. 15

D. 25

Answer: D

https://dl.doubtnut.com/l/_J8UkGzWEV8tG
https://dl.doubtnut.com/l/_RxtoHySkYoO1


Concept Application Level 3

Watch Video Solution

1. Arrange 3/4,9/13,12/17 and 1/2 in the ascending order.

A. 1/2,9/13,3/4,12/17

B. 3/4,9/13,1/2,12/17

C. 1/2,3/4,9/13,12/17

D. 1/2,9/13,12/17,3/4

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_RxtoHySkYoO1
https://dl.doubtnut.com/l/_fqbuHrwe4OHX


2. The smallest of the
 fractions 
 and 
 is
 
 (b) 


(d) 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

, ,
2

3
4

7

8

11

5

9

2

3
4

7
8

11

5

9

2

3

4

7

8

11

5

9

3. A,B, and C shared a total of Rs. 6024. Share of A is one-third

of the total money and share of B is half of the total money.

Find the share of C.

https://dl.doubtnut.com/l/_4xNF1z7fzfuv
https://dl.doubtnut.com/l/_iWSleTVOzQbc


A. Rs. 1004

B. Rs. 104

C. Rs. 208

D. Rs. 2008

Answer: A

Watch Video Solution

4. The average weight of each student of a class is kg. If

there are 24 students in the class, then find the total weight of

the class.

A. 768kg

B. 786kg

323/4

https://dl.doubtnut.com/l/_iWSleTVOzQbc
https://dl.doubtnut.com/l/_QMjuvhhJRR3O


C. 867kg

D. 876kg

Answer: B

Watch Video Solution

5. The HCF and the LCM of two numbers are 24 and 1008. If one

of the numbers is 168, then find the other number

A. 336

B. 252

C. 148

D. 144

Answer: D

https://dl.doubtnut.com/l/_QMjuvhhJRR3O
https://dl.doubtnut.com/l/_nyljR0sPaNr5


Watch Video Solution

6. Find the greatest number that can divide 246 and 279 by

leaving remainders 2 and 3, respectively.

A. 4

B. 40

C. 6

D. 60

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_nyljR0sPaNr5
https://dl.doubtnut.com/l/_a4AsyxNGQDDR


7. Find the greatest possible quantity which can be used to

measure exactly the quantities 3L 250mL, 3L 500 mL and 4L

A. 25mL

B. 125mL

C. 250mL

D. 500mL

Answer: C

Watch Video Solution

8. What is the least positive integer by which 4500 should be

divided so that the quotient is a perfect cube?

A. 6

https://dl.doubtnut.com/l/_SIXILGLjCym9
https://dl.doubtnut.com/l/_zd2PU0TM91p3


B. 36

C. 2

D. 3

Answer: B

Watch Video Solution

9. A total of 1152 students were assembled in rows and colums.

If there are n rows and n/2 columns,then find the number of

students in each row.

A. 36

B. 42

C. 48

https://dl.doubtnut.com/l/_zd2PU0TM91p3
https://dl.doubtnut.com/l/_A9XPa80qsA3G


D. 34

Answer: C

Watch Video Solution

10. The LCM of two numbers is 26, then which of the following

can be their HCF?

A. 1

B. 2

C. 13

D. All of these

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_A9XPa80qsA3G
https://dl.doubtnut.com/l/_tCK3TCFyJiGy


11. In a computer game if we hit a balloon we get 500 points,

and if we miss the balloon, we lose 300 points. Raj hits 20

balloons and misses 40 balloons. Find his net score.

A. 2000

B. 

C. 

D. 

Answer: B

Watch Video Solution

−2000

1000

−1000

https://dl.doubtnut.com/l/_tCK3TCFyJiGy
https://dl.doubtnut.com/l/_8N4MCDSmV49M


12. Krishna purchased 20 pencils for his two sons Akhil and

Nikhil. Akhil took two fifth of the total number of these

penscils and Nikhil took the remining pencils. Find the number

of pencils taken by Nikhil.

A. 8

B. 12

C. 6

D. 

Answer: B

Watch Video Solution

14

https://dl.doubtnut.com/l/_e5mViRlscTpq


13. If  (40

terms) and  (20

terms) then  is ___________.

A. 40

B. 10

C. 20

D. 

Answer: D

Watch Video Solution

x = ( − 23) + 22 + ( − 23) + 22…………. .

y = 11 + ( − 10) + 11 + ( − 10) + ….

y − x

30

14. Ram went to a shop to purchase an article. But he had an

amount which is equal to [13/27] of the cost of the article.If the

https://dl.doubtnut.com/l/_UzIrlB6SXQA6
https://dl.doubtnut.com/l/_MpRybKQYejKL


cost of article was Rs. 540 then find the amount with him.

A. Rs. 240

B. Rs. 250

C. Rs. 260

D. Rs. 270

Answer: C

Watch Video Solution

15. If x and y are the smallest and the greatest four digit

numbers formed by using 1,3,5 and 9, then find y-x.

A. 5940

B. 8172

https://dl.doubtnut.com/l/_MpRybKQYejKL
https://dl.doubtnut.com/l/_JEQVRNb67tFE


C. 3600

D. 6336

Answer: B

Watch Video Solution

16. If  and 

, then find x-y

A. 2009

B. 2008

C. 0

D. 1004

x = ( − 1)1 + ( − 1)2 + … + ( − 1)2009

Y = ( − 1)1 − ( − 1)2 + ( − 1)3 − ( − 1)4 + …… + ( − 1)2009

https://dl.doubtnut.com/l/_JEQVRNb67tFE
https://dl.doubtnut.com/l/_59QcPzW1lvFR


Answer: B

Watch Video Solution

17. Raj went to a market to buy a radio. But he had an amount

which is equal to  of the cost of the radio. If the cost of

the raio is Rs. 560 then find the amount with him

A. Rs. 280

B. Rs. 300

C. Rs. 240

D. Rs. 320

Answer: B

Watch Video Solution

[ ]
15

28

https://dl.doubtnut.com/l/_59QcPzW1lvFR
https://dl.doubtnut.com/l/_bJIyGv54sw99


Assessment Tests

1. Find the smallest number by which 2592 should be divided

so that the quotient is a perfect cube The folloiwng are the

steps involved in solving the above problem .Arrange them in

sequential order 

(A) On prime factorisation 2592 =  


(B) 2592 should be divided by 12 so that the quotient is a

perfect cube 

(C ) Now 2592 =

A. BCDAE

B. CBADE

C. BCAED

D. CBDAE

25 × 34

(6)3 × 12

https://dl.doubtnut.com/l/_ydh2CpeP6WZQ


Answer: B

Watch Video Solution

2. Find the number of subsets of , if n(A)=2 and n(B)=4 


The following are the steps involved in solving the above

problem. Arrange them in sequential order (A) The number of

elemetns in  is . 


(B) The number of subsets of a set with n elements =  


(C) Given  and . 


(D)  Required number of subsets is .

A. CABD

B. BCAD

C. BCDA

D. CBAD

A × B

A × B 4 × 2 = 8

2n

n(A) = 2 n(B) = 4

∴ 28 = 256

https://dl.doubtnut.com/l/_ydh2CpeP6WZQ
https://dl.doubtnut.com/l/_CK8uT8LCWMok


Answer: A

Watch Video Solution

3. The area of a square field isd . Find the cost of

fencing the field at the rate of  per metre.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1444m2

Rs. 5

Rs. 760

Rs. 720

Rs. 680

Rs. 640

https://dl.doubtnut.com/l/_CK8uT8LCWMok
https://dl.doubtnut.com/l/_hq0SoBzi0JZ0
https://dl.doubtnut.com/l/_1gy2AUNuXE2F


4. What is the leat natural number that should be added to

the result of , so that the sum obtained is a perfect

square?

A. 1

B. 8

C. 88

D. 89

Answer: D

Watch Video Solution

88 × 89

5. Find the least number which when divided by 5,7 and 8

leaves 3 as the remainder in each case.

https://dl.doubtnut.com/l/_1gy2AUNuXE2F
https://dl.doubtnut.com/l/_VPPuaP0TMBSd


A. 283

B. 78

C. 578

D. 57

Answer: A

Watch Video Solution

6. ________

A. 

B. 

C. 

D. 

2. 3̄ + 3. 4̄ − 4. 8̄ =

0. 7̄

1. 2̄

0. 8̄

1. 9̄

https://dl.doubtnut.com/l/_VPPuaP0TMBSd
https://dl.doubtnut.com/l/_GL63lvxdXPRD


Answer: C

Watch Video Solution

7. Find the value of .

A. 24

B. 45

C. 72

D. 96

Answer: C

Watch Video Solution

3√27 × 3√216 × 3√64

https://dl.doubtnut.com/l/_GL63lvxdXPRD
https://dl.doubtnut.com/l/_KoP9Iz3JbmoE


8. Find the largest number that divides 92 and 75 and leave the

remainders 2 and 5, respectively.

A. 10

B. 15

C. 25

D. 30

Answer: A

Watch Video Solution

9. In a game, if we hit a balloon, we get 300 points and if we

miss the balloon, we lose 100 points. Raj hits 15 balloons and

misses 40 balloons. Find his net score.

https://dl.doubtnut.com/l/_Hep5YGxnSl0q
https://dl.doubtnut.com/l/_RGcsgJdBv6JT


A. 500

B. 400

C. 300

D. 200

Answer: A

Watch Video Solution

10. The LCM of two numbers is 420. Which of the following

cannot be the HCF of the two numberS?

A. 70

B. 60

C. 210

https://dl.doubtnut.com/l/_RGcsgJdBv6JT
https://dl.doubtnut.com/l/_rRHkF4L1quWS


D. 80

Answer: D

Watch Video Solution

11. Which of the following fractions represent a non

terminating decimal?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

63

24

18

15

14
21

33

44

https://dl.doubtnut.com/l/_rRHkF4L1quWS
https://dl.doubtnut.com/l/_rnoOhantnrP7


12. Match Column A with Column B. 

Watch Video Solution

13. Find the smallest number by which 2592 should be divided

so that the quotient is a perfect cube The folloiwng are the

steps involved in solving the above problem .Arrange them in

sequential order 

(A) On prime factorisation 2592 =  


(B) 2592 should be divided by 12 so that the quotient is a

25 × 34

https://dl.doubtnut.com/l/_rnoOhantnrP7
https://dl.doubtnut.com/l/_9rkAm3g24yIw
https://dl.doubtnut.com/l/_U0B6p8NoZCuS


perfect cube 

(C ) Now 2592 =

A. BCDA

B. ABCD

C. BADC

D. BCAD

Answer: D

Watch Video Solution

(6)3 × 12

14. Convert  into  form, where p and q are coprimes.

Watch Video Solution

2. ¯̄̄¯45
p

q

https://dl.doubtnut.com/l/_U0B6p8NoZCuS
https://dl.doubtnut.com/l/_aEdxHMTzcqK5


15. The are of a square field of . Find the cost of fencing

the field at the rate of Rs. 3 per metre

A. Rs. 672

B. Rs. 564

C. Rs. 492

D. Rs. 372

Answer: C

Watch Video Solution

1681m2

16. What is the least natural number that should be added to

the product of 30 and 31 so that the sum obtained is a perfect

square?

https://dl.doubtnut.com/l/_iqrNvsaAyYjS
https://dl.doubtnut.com/l/_hfU96Z6cST05


A. 10

B. 3

C. 30

D. 31

Answer: D

Watch Video Solution

17. Find the least number which when divided by 9, 12 and 15,

leaves 5 as the remainder in each case.

A. 180

B. 50

C. 185

https://dl.doubtnut.com/l/_hfU96Z6cST05
https://dl.doubtnut.com/l/_ClYCgmD1xJQj


D. 77

Answer: C

Watch Video Solution

18. __

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3. 4̄ + 5. 8̄ − 7. 9̄ =

4/3

8/5

7/9

5/4

https://dl.doubtnut.com/l/_ClYCgmD1xJQj
https://dl.doubtnut.com/l/_PvB2ZchPDSHP
https://dl.doubtnut.com/l/_6HQOhBqkSmfm


19. Find the values of 

A. 26

B. 24

C. 56

D. 48

Answer: B

Watch Video Solution

3√512 + 3√343 + 3√729

20. The largest number that divides 64 and 72 and
 leave the

remainders 12 and 7 respectively, is 17
(b) 13 (c)
14 (d) 18

A. 17

https://dl.doubtnut.com/l/_6HQOhBqkSmfm
https://dl.doubtnut.com/l/_vD9FKyDZvkqz


B. 13

C. 14

D. 0.18

Answer: B

Watch Video Solution

21. In a game, if we reach a level, we get 400 points and if we

mis any level, we lose 300 points. Rhoit reaches 20 levels and

misses 30 levels. Find his net score.

A. 1000

B. 500

C. −500

https://dl.doubtnut.com/l/_vD9FKyDZvkqz
https://dl.doubtnut.com/l/_LMtqxe6h5xXB


D. 

Answer: D

Watch Video Solution

−1000

22. The LCM of two numbers is 1200. Which of the following

cannot be their HCF? (a) 600 (c) 200 (b) 500 (d) 400

A. 324

B. 260

C. 648

D. 360

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_LMtqxe6h5xXB
https://dl.doubtnut.com/l/_9IKuGelYH9rU


23. Which of the following fractions represent a non

terminating decimal?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

625

128

273
250

750
216

150

300

https://dl.doubtnut.com/l/_9IKuGelYH9rU
https://dl.doubtnut.com/l/_D7E3684PlTmy


24. Match Column A with Column B. 

Watch Video Solution

https://dl.doubtnut.com/l/_camHvmuWyUnd

